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Mr. Varughese ! Algebra 2 — Rational/Radicals Summary

For each statement or question, choose the word or expression that, of those given, best comp|etes the
statement or answers the question.

1.

Eﬁj—ﬂiﬂﬁ " 2 ls undefined when x equals X + Lxlfg Cs % O
(1) 20r —4 (3) 3, only 4 ) o
(2) 4or -2 (4) 2, only (X ‘T (x 9) :O
2, - Lf) 9/
Which expression is equivalent to (3k — 2i)%, where i is the unagmﬂ?'/\ > _,'
¢

unit?

- ) =4 (3) 9k% — 12ki —4 Q%K’Z/\)()?k Z‘
(2) K2 + 4 (4) OFF — 12ki + 4 qkafll—yu*t@

i Ok* —1ki —4

The roots of the equation x> + 2x + 5 = Q are

(1) =3and}l | @ 7‘///'2"!; L{**L((I )(5/)

@ (2) —1, only (4) -l+4¢and -1 - 4
2/1’
a. IS & Z
The solution set for the equation Vx + 14 — V2x +5 =1 is "Ii —;:

1) {-6) (3) {18) C o
@@ D ) {222 k l/’)D] (24~
5. | 2hvy "’(/L-ng =

Which equation represents a parabola with the focus at (0, —1) and

the directrixy = 1? | ut,' j}d/x) (/I

(1) 2 = —8 (3) «* = 8y

6.
What are the zeros of P(m) = (m? — 4)(m? + 1)? 1 _
(1) 2and 2, only (3) —4,i,and — ’l/, O M *\’O

@ (2) 2, -2, and —4 (J{Y\’&M‘@jfo m’l’c_l
o b
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a7
\

A polyhomia] equation of degree three, p(x), is used to model the
volume of a rectangular box. The graph of p(x) has x intercepts at
—2, 10, and 14. Which statements regarding p(x) could be true?

The equation of plx) = (x — 2)(x + 10)(x + 14). (N‘\“ ]’Y\ (jf)\l (/ <
B. The equation of p(x) = ~(x + 2)(x — 10)(x — 14).

ot
et

Th i 1 =
\§ Thle maximum volume occurs when x = 10. — ‘(\ C’C) - COJ ‘.
e maximum volume of the box is apprommately 56. ng{ (A
() AandC AD 0 CmO\/XJ
(2) Aand D (L . P
x t X +h
8. . y
2=V [ D¢+ I T
/hi 443 5
Which expression is equivalent to _2:_3."1.?_ , where xw%? _ L/)Z _7/32/
() a2 —x+5 NG
>4
il 1 1
@) 2+ 3+ 55— W2t -rrde gy — XX
9. \Lﬂwl i Calc,
Which binomial is nat a factor of the expression r* — 112 + 16x + 847 — [0x-bh
(1) x +2 (3)x—86

Iz @s-7

10. m
.4 :
The expression 6xi%(—4xi + 5) is equivalent to "’Ll-{’ )8/[, + 7{)0 )L@

(1) 2x — 5i B (3) —24x% +30x — i
@Q (4) 26x — 24x% — Bi
11.
The solution to the equation 4x” + 98 = O is _ q(g 1.
,,- =
(1) =7 (3) + N2

@) =7Ti (4) + 7"/— ,X
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9 12

The graph of the function p(x) is sketched below.

p(x)
A

\

Which equation could represent p(x)?
plx) = («* - 9)x — 2)

3) plx) =23 — 222 + 9r + 18

(3) plx) = ‘2+9)a~2) \%qfoufn\q
(4) plx) =50+ 22— — 18 d mk'
ke ) = 4 (%> \}MnoJFW

Which binomial is a factor of x* — 4x% — 4x + 8P

SIEED -4
x+2 (4) x+4

14.
Forx # 0, which expressions are equivalent to one divided by the sixth

root of x \/ \l/ / )C

Ay ;

13.

1 _\’
L. O oz 5 b
{/ - X L—é/-__:- IL -;’- IIL x X"g X72'“7 ~ X
)Q x
(1) IandII, only (3) I and 111, oily

© (2) Land 111, only w

Scanned by CamScanner



Name: Date: _
Mr. Varughese Algebra 2 - Rational/Radicals Summary

15.
L 4
A parabola has its focus at (1,2) and its directrix is y = -2 The
equation of this parabola could be , P = L_
(1) g =8(x + 12 @) y = 86x - 12 -7/

(2)y=-§;(x+1)2 i (4)y——(1—1)2‘ L

For each statement or question, show all work necessary to earn credit.

L 9,

4

Explain how (~8)% can be evaluated using properties of rational exponents to result in an integer
answer.

Wu\ [///\)Jv'vb M 0 1odicnd
310 )

2.

Given r(x) = 53 ~ 4x2 + 45 — 6, find the value of r(2).

(B)= T-403 10 6

e R S”
= (L

What does your answer tell you about x — 2 as a factor of r(x)? Explain.
- ol 6 fachy a%((y) bfc ggf
a V(/m{imauﬂ —) W mﬂl 0.
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- 3.

Over the set of integers, factor the expression 4x3—- + 16x — 4compltly

(L{x -1) + Lf(‘fx ')

fbr) fo,,)J

4,

Y R A I e
(hk W\K&P@L’ﬁ [ ={bx) / YA 5

( ovts, x—4= Jb- D/X*/

5 x I%x*‘-to O

Algbalallydetermm e whether thefuncno;) 2 — 3% — 4 is odd, even, or neither.

Fx)= (-3 ﬁn SMQS&M
& N LB
o T
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7. @
On the axes below, sketch a possible function p(x) = (x — a)(x — b){x + ¢), where a, b, and ¢ are
positive, a > b, and p(x) has a positive y-intercept of d. Label all intercepts.

y
)

AN

g

C [8b O

. ” X(da?
Solve for all values of p: r?’” (Pj}‘)@:—) é———ﬁ\/ﬂuﬂk@

%o(p¥) — 2ps) p(p 5) P57

3t 0 -0 2P
20" +13p +10° =0
(?«V(QP'\’ 6) D

2 (pr 1 lpr7)=V

Poice| b o
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